
SAP ABAP table V_5CBT_ABG {Generated Table for View}

V_5CBT_ABG

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

PPLAN [CHAR (2)]

CALCN [CHAR (2)]

ACTIO [CHAR (2)]

CVIEW [CHAR (2)]

VTYP1 [CHAR (4)]

VTYP2 [CHAR (4)]

VTYP3 [CHAR (4)]

VTYP4 [CHAR (4)]

VTYP5 [CHAR (4)]

VTYP6 [CHAR (4)]

VTYP7 [CHAR (4)]

VTYP8 [CHAR (4)]

T000

MANDT [CLNT (3)]

 V_5CBT_ABG-MANDT = T000-MANDT 

0..N

1

T500L

MOLGA [CHAR (2)]

 V_5CBT_ABG-MOLGA = T500L-MOLGA 

0..N

1

T5CA2

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

VALTY [CHAR (4)]

 V_5CBT_ABG-VTYP1 = T5CA2-VALTY 

0..N

0..N  V_5CBT_ABG-VTYP2 = T5CA2-VALTY 

0..N0..N
 V_5CBT_ABG-VTYP3 = T5CA2-VALTY 

0..N
0..N  V_5CBT_ABG-VTYP4 = T5CA2-VALTY 

0..N

0..N
 V_5CBT_ABG-VTYP5 = T5CA2-VALTY 0..N

0..N  V_5CBT_ABG-VTYP6 = T5CA2-VALTY 
0..N

0..N
 V_5CBT_ABG-VTYP7 = T5CA2-VALTY 

0..N

0..N

 V_5CBT_ABG-VTYP8 = T5CA2-VALTY 

0..N

0..N

T5CA4

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

PPLAN [CHAR (2)]

 V_5CBT_ABG-PPLAN = T5CA4-PPLAN 0..N1

T5CAY

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

ACTIO [CHAR (2)]

 V_5CBT_ABG-ACTIO = T5CAY-ACTIO 

0..N

1

T5CBP

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

CALCN [CHAR (2)]

 V_5CBT_ABG-CALCN = T5CBP-CALCN 

0..N

1

T5CBR

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

CVIEW [CHAR (2)]

 V_5CBT_ABG-CVIEW = T5CBR-CVIEW 

0..N

1

T5CBY

MOLGA [CHAR (2)]

APPLI [CHAR (2)]

 V_5CBT_ABG-APPLI = T5CBY-APPLI 

0..N

0..N


